Ways to Multiply

Lesson 3 67
October __, 2017:

Area Model: using length times width to set up a e
multiplication problem.

Rectangle Sections. breaking a larger rectangle into
smaller sections.

. 41 x 67 &0 + 7
Partial Products: the product of the smaller
rectangles that add to the larger rectangle's product.
40 x 60 = 2,400 40x 71409
- X = 2680
+ +
3 3 X 60 = 180 et £
60 + 7

I

Expanded Notation: breaking a number into its place 43=40+3
value numbers and then using those numbers to X 67 =60+ 7
find the product. 40 x 60 = 2,400
40x 7= 280
3x60= 180
3%, T= 21
2,881
Rectangle Rows Short Cut Short Cut
Multiply by Tens First Multiply by Ones First
43 x 67 67 3 :
2 67 67
xﬁg X 43 x 43
40 T ent
2,680 2.680 2,680 201
+ +201 201 2,680
&7 2,881 2,881 2,881
3 X 3
201




